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QUESTION 1
Which steps will produce the data required to create an application-specific matching rule?

A. Use class criteria track to enable tracking on a specific class and then use class criteria recent to see a list of recent
values for the class

B. Use class criteria attributes to see attributes for a specific class and then use class criteria recent to see a list of
recent values for the class

C. Use class criteria trade to enable tracking on a specific class and to see a list of recent values for the class

D. Use class criteria attributes to see attributes for a specific class and then use class criteria track to track the recent
values for the class

Correct Answer: D

QUESTION 2

Which method does PacketShaper use to create child classes for Oracle databases?
A. Individually for each published application

B. Individually by encoding name

C. Once, for all Oracle traffic running on the subnet

D. Individually for each database that is discovered

Correct Answer: C

QUESTION 3

Which two (2) traffic types are ideal candidates for priority policies? (Select two)
A. Telnet

B. ICMP

C.HTTP

D. DNS

E. FTP

Correct Answer: AB
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QUESTION 4

After insulting a PacketShaper inline between a switch and a router, communications are slow. Which command,

executed repeatedly, can help to determine it there ate errors on the PacketShaper interfaces?
A. link show

B. net nic

C. tap health

D. traffic flow

Correct Answer: A

QUESTION 5

Refer to the exhibit.

250-440 PDF Dumps | 250-440 VCE Dumps | 250-440 Study Guide

3/9


https://www.leads4pass.com/250-440.html
https://www.leads4pass.com/250-440.html
https://www.leads4pass.com/250-440.html

https://lwww.leads4pass.com/250-440.html

Lead S4Pass 202 aes leads4pass 250-440 PDF and VCE dumps Download

The Global Intelligence Network Of WebPulse service classifies .1 website as "Entertainment;
Mumor/tokes." The current configuration of PacketShaper has traffic discovery enabled within the Inbound/
HTTP class and has the class tree shown as in the exhibit with WebPulse enabled.

What two (2) classes will the traffic flow into when the client makes a request to the website in question?
(Select two)

A. Inbound/Local host

B. inbound/Entertainment

C. Inbound/HTTP/Default

D. Inbound/HTTP/Entertainment

E. Inbound/Humor_jotes

Correct Answer: AD

250-440 PDF Dumps | 250-440 VCE Dumps | 250-440 Study Guide

4/9


https://www.leads4pass.com/250-440.html
https://www.leads4pass.com/250-440.html
https://www.leads4pass.com/250-440.html

https://lwww.leads4pass.com/250-440.html
2024 Latest leads4pass 250-440 PDF and VCE dumps Download

QUESTION 6

A university warns to provide each student a minimum of 30 Kbps and a maximum of ISO Kbps to be used in any way.
Which control mechanism does Symantec recommend to ensure this capacity?

A. Rate Policy

B. Burstable Partition

C. Dynamic Subpartition
D. Fixed Partition

Correct Answer: B

QUESTION 7

When would Symantec recommend backing up measurement data, using the measurement engine?
A. Prior to a software upgrade

B. Before returning the appliance to the manufacturer

C. When verifying that a transfer is complete

D. After performing a restore of the data from backups

Correct Answer: D

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/current/reference/cli/
measurerestore.htm

QUESTION 8

When would the traffic class Inbound/HTTP inherit its policy from another class?
A. When Inbound/HTTP has an ignore policy applied

B. When Inbound/HTTP has a rate policy applied

C. When Inbound/HTTP has a priority policy applied

D. When Inbound/HTTP does not have a policy applied

Correct Answer: D
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QUESTION 9

What are the two (2) main functions o( the Symantec PacketShaper? (Select two)
A. Control of network traffic

B. Next generation firewall

C. Network traffic visibility

D. Increased bandwidth

E. Secure transparent proxy

Correct Answer: AC

QUESTION 10

Refer to the exhibit.
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Which task must the administrator perform to make sure that traffic between (he IAN and DMZ is treated as pass-
through PacketShaper installed as shown?

A. Create a class for LAN-to-DMZ traffic and apply a 100 MB partition to it. ..
B. Create a class for IANto-OMZ traffic and apply a 100-MB rate policy to it.
C. Create a class for IAN-tO-DMZ traffic and apply an ignore policy to it.

D. Configure the PacketShapet to automatically identify Inside and Outside hosts, therefor* no special configuration is
required.

Correct Answer: B

QUESTION 11
Which option best defines an "unreliable network™" within PacketShaper?

A. It has NO traffic trees defined in the PacketShaper
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B. Its latency is decreased, meaning that the frequency of time-outs and retransmissions spike
C. It offers no guarantees that packets will NOT be delayed, damaged, or lost
D. Its acknowledgments are in UDP, NOT TCP

Correct Answer: A

QUESTION 12

Which statement accurately describes the PacketShaper measurement engine?
A. It collects histogram data that can be backed up to the PacketShaper

B. Its data is stored in tab-delimited lists

C. It collects histogram data that can be exported to a die

D. It Is a background process that collects traffic tree data

Correct Answer: C

QUESTION 13

Which CLI command will display the current rate and connection information about active hosts?
A. hostdb hosts

B. hostdb accounting

C. hostdb info

D. hostdb show

Correct Answer: B

QUESTION 14

Which PacketShaper report displays the percentage of bytes that are NOT retransmits?
A. The TCP Health graph

B. The Network Efficiency graph

C. The Normalized Network Delay graph
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D. The Top 10 Classes graph
Correct Answer: B

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.10/Content/PDFs/
AdaptiveResponse.pdf

QUESTION 15

What is the purpose of a "Traffic Class"?

A. It enforces the policy by normalizing all traffic

B. It applies source routing features for load balancing

C. It identities the traffic type, which allows a policy to be applied
D. It forwards traffic to the Measurement Engine

Correct Answer: A
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